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FIRIERBA—FLRATISUOTREFIEKRKE ORDER OF PLAY No. 1
FBRT—RAOHELE ca—kAILE) 9A19H (K)
Roﬁ%RT Court 1 Court 2 Court 3 Court 4 Court 5 Court 6 Court 7 Court 8
wme 40RE B FH SFlome 4055 B FHL SFleme 4555 B FHL SF|em 4555 B FH SFlsom 505 B FH QF|som 505 B FH QF|som: 505558 FHB QF|eow 60REZXFE QF
SA |4 BREX 12 FRlE K 3 FHEE 9 T g 1 EHARER 20 SEICE 25 HER &R 1 FRAHAEY
900 |3 =H# —R 13 KAREBE |5 BiEEE 16 EEE 8 EEB 24 HI £ 20 AR BA 8 HAF BNE
80MS 80ﬁ%¥$ 80MS 80#2%¥$ 1R soms 80#2%¥$ 1R soms 80&%%% 75Ms 75&%%% QF|sms 75&%%% QF|svs 75&%%% QF|sms 75%&%%% QF
NB |1 #B=Z @5 3 Hil E— 5 JIEl ZE 7 815 & 1 /R EF 5 |UME BF 10 /N#R R AL 14 Tk F0E
Vs Vs Vs Vs Vs Vs Vs Vs
1000 |, sextmm—p |4 EBH AES 6 1BA & 8 B 3 AR EE 7 K EEB 12 [EME Hih 16 32)I Ek
s OB FE 2R|os T0MBFE 2R|os 10HBFE 2r|ws T0HMBFE 2r|ws T0HBFE 2R|os T0HBFE 2R|os T0HBFE 2r|ws T0HBFE 2R
NB |17 &Ei& %A 21 Eith NA 25 O 18R 29  JNEk i 33 dt)Il & 37 HEE BEE 41 ARHE K— 49 KB
1130 |20 K@ k= 24 A BE 28 EM & 32 KM WAL 36 I B2 40 I fE— 44 FiE —E 52 T EE
[ 65/ B FH o 65 B FE 2 65 B FE 2 65 B FE o 65 B FE 2 657 BFE 2 657 BFE 2 65 B FH 2R
NB |17 #HE —Z 30 KREAZE fid 33 h¥f FO5E 37 ¥H E=F 41 BHF B 46 EiE BE— 49 K& 1TH 53  HEAT %R
Vs Vs Vs Vs Vs Vs Vs Vs
1230 119  T# & 32 EiEE 36 ZAK M2 0 HWEHER 44 EIF EE 48 INERE— 52 {83 1B 56 JEF fE—
60MS 60’;—3%%$ 60MS 60%&%%$ 2R | soms 60%&%%$ 2R | soms 60]{&%%% B | | |
NB |17 HE &2 21 EBE B 25 B0 jE— 30 A% —th
1400 120 jeE B2 24 ZERE IR 21 HHE 32 EH &
MKETIKRICKYI—FEERTHEENHYET 9A18H(K) 18FF00FHEEKX KL TJx!)— T4 FEH
sme SORE B FH QF|sne 555 BFH QFfows 65 BF B 2R TOMEFEE 2R TORESHFH 2R[wwe S5RELFH 2R[oe JOREKFH SF|
Rig |9 EEEZ 9 FH#B— 1 BB RE 1 JEHE &H 46({E2 K BB 1 S EXF 5 A XRF




FIRIEREBA—2LATSOT-REFIEKSE ORDER OF PLAY No. 2
FHTF=AOHLE Ca—MAILE) 9/ 198 (K)
coon|  Court 9 Court 10 | Court 11 Court 12 | Court 13 | Court 14 | Court 15 | Court 16
osws G5E L F B QF|esws 65k FH QFﬁ 65 FH QFfosws 65 XFEH QFfeow 40EXFE F [ows 605EZXFE QF|oows 60%ZFEH QF|oows 60 XFEH QF
SA |1 B EBEFT |9 tsk&EmMmF |17 FIIETF 25 #EE BF 3 BN HEA 9 T BE 17 BE BEF |28 A EXF
900 |5 oz 16 AR ELF |20 mEEEF 32 A EIRE |5 4B = 16 IA BF 24 HEERT 32 IF B
ows JOREZL FHBE SF|sws 55p% & FBE 2R|sovs 55 FH 2R|ssvs 55 FH 2R|ssvs 55 FH 2R |ssvs S5 FH 2Rsms S55RRZCFH 2R|ssws 55REEFE 2R
NB |1 #&IE &F 6 HBE REF 10 AIG FEF 14 RFEBE 17 ZRBXK 21 Bk RF 25 =N HBF 30 /NPE f#EF
Vs Vs Vs Vs Vs Vs Vs Vs
1000 3 xBg 2% 7 ER 2 1 JIlE &7 16 £4 KMF |20 FEEETF |2 ZRRER/R |7 A EEF |2 HOET
s JORE B FH 2R|mws TR B FE 2R|ovs 70 BF B 2R|sm 555k B FH QFfsom 55k B F B QF|sm 5555 B FBi QF|ow 45EEZF B SF|ew 45pEZCFEL SF
NB |53 [Hil = 57 S % 62 I\ 2 1 KINE %058 17 EBEHHA 25 By sEig 1 Iy HE 12 RE —XE
11:30 |56 gE/E 247 60 it =X 64 [NifE EH 8 FBEHP 24 O fEth 32 T — 5 #ILBEEF |16 AE BE
= 65 B FH 2R|[ss 65 B FH 2R|[esw 65X F4E SF|osw 65X F48 SFloows S0k FB QF|sows 50k ZcF B QF|sows 50 ZFH QF|sows 50X FH QF
NB |57 KH T4 62 ED BE 1 K& /hnk 12 BE /K 1 /W EF 9 [ EF 17 FRFA E£E& 25 FHIF EF
Vs Vs Vs Vs Vs Vs Vs Vs
1230 60 &% Sk 64 BEH RX 5 Al /EE |13 L% /A 5 Bl #F 16 IEE EhmE |4 BEEF 32 FE HEF
B B owd 60FFE L F4E 1R|=w 55X F4E 1R[=w 55X F#E 1R[=w 55 F1E 1R7 |
NB 3 ¥#H /FER 3 = /B 9 A /XE 13 &% /Ei5
14.00 4 EK/BE 4 FE/Xn |10 B8 /K |14 FL /At
XETRRICEYI— EEERETIBANHYET 9B 18H(K) 18B5000 %% K&l Txl— L4 EM
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